PRODUCTS

www.buyersproducts.com

Phone (440) 974-8888
Fax 800-841-8003

Installation Instructions

LT17 Multi-Rack with Lid
for Utility Landscape Trailers

Holds most hedge trimmers, chain saws, and hand blowers.

Before you begin installing:

1. Read and understand these instructions completely.

2, Verify that you have received all the parts listed in the bill of
materials.

( AAWARNING 1
LAIways wear safety glasses when using power tools. J

Tools Required:

" (2) 9/16" Wrenches and/or Sockets
= (1) Electric Drill

= (1) 13/32" Drill Bit

Utility Trailer Installation Instructions

1. Place the Multi-Rack on the rail or fender of your utility trailer
where you would like it mounted. Make sure the rack does
not extend past the widest part of the trailer. If you are
mounting the Multi-Rack close to another rack or obstruction,
verify that the tools you would like to place in the rack fit in the
area selected.

2. Mark the position of the holes on the trailer rail or on the
fender. Make sure the marks made on the trailer rail are
centered in the rail angle’s web. If you are mounting the rack on
the trailer’s fender and wish to use the hedge trimmer
attachment, you must use the center hole where the bracket is
to be mounted, and drill a hole in the rubber pad.

( AAWARNING

OPTIONAL FOR USE
WITH HEDGE TRIMMER

(LID NOT SHOWN)

N ASSEMBLE
> HEDGE TRIMMER
BRACKET HERE

(DRILL HOLE IN
PAD - NOT SHOWN)

Bill of Materials

Check for locations of brake lines and electrical wiring
etc., before drilling any holes. Any damage to trailer
during installation is the installer’s sole responsibility.

3. Drill 13/32" holes in the positions marked.

4. Bolt the rack to the trailer with the 3/8-16 x 1-1/4 screws,
3/8" flat washers, and nuts supplied (2 or 3) and tighten. If the
hedge trimmer bracket is used, omit the washer under the head
of the screw that holds it. Hedge trimmer bracket must be
mounted in the location shown in illustration.

ITEM PARTNO.  QTY. DESCRIPTION
1 3045210 1 Multi-Rack with Lid
2 3000057 1 Bracket, Hedge Trimmer, Multi-Rack
3 3000538 1 Pin, Detent
4 TS9 2  Strap, Rubber Tarp 9"
5 9225 4 S-Hook, 2-1/2" ZN, Tarp Strap
6 - 4 Washer, Flat 3/8" USS ZN
7 - 2 Screw, HHC 3/8-16 x 1-1/4 Gr. 5 ZN
8 - 2 Nut, Nylock 3/8-16 x 7/16 ZN

Warranty

Buyers Products Co. warrants all truck/trailer hardware manufactured or
distributed by it, to be free from defects in material and workmanship for a
period of one year from date of shipment. Parts must be properly installed
and used under normal conditions. Any product which has been altered,
including modification, misuse, accident or lack of maintenance will not be
considered under warranty. Normal wear is excluded. The sole responsi-
bility of Buyers Products Co. under this warranty is limited to repairing or
replacing any part or parts which are returned, prepaid, and are found to
be defective by Buyers Products Co. Authorization from Buyers Products
Co. must be obtained before returning any part. No charges for transpor-
tation or labor performed on Buyers’ products will be allowed under this
warranty.

3045904_A



